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90 17 (3.1.3) (2.4.6)

97 13 (2.1.7)(ii) (2.1.8)(ii)

98 15 λ(X) ≤ r + 1 λ(M) ≤ r + 1

100 15 ≤ r(X1) + 1 + r(X2)− r(M − e). ≤ r(X1) + 1 + r(X2)− r(M − e) ≤ k.

102 1 ½Â(3.1.1)Ú½Â(3.2.3)§ ½Â(3.1.1)Ú½Â(3.2.2)§

106 8 (E,E −X) (X, E −X)

106 13 (E,E −X) (X, E −X)

106 -5 (E,E −X) (X, E −X)

107 -5 ω(G[E −X]) ≤ ω(G)" ω(G[E −X]) ≤ ω(G[X])"

107 -3 Y2, · · · , Yc Y2, · · · , Yd

108 6 �ÜTutte(½º:)n-©ly©" �ÜTutte n-©ly©"

108 9-10 �ÜTutte(½º:)n-©ly©" �ÜTutte n-©ly©"

111 8 �5-V�©l¼�" �5-V�©ly©"

114 8 ��g(M) = k�é?¿�êk′ ≥ 1" ��g(M) = k"

114 9 M�¤k��þ� M�¤k{�{���þ�

118 2 Kk ½ÂÝ
A1ÚA2Xe

119 6 ={p} 6∈ C(Mi) ∩ C(M∗
i ) ={p} 6∈ C(Mi) ∪ C(M∗

i )

119 14 p 6∈ C(Mi) ∩ C(M∗
i ) {p} 6∈ C(Mi) ∪ C(M∗

i )

123 3 Ó�uM¥z�r
 Ó�uM¥,�r


129 11 ��y© �y©

130 4 G/X�´4�3-ëÏ�" M/X�´4�3-ëÏ�"
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